Estimating Measures in Length, Weight and Volume

(Capacity)

. A shopkeeper bought 34 kg sugar and 44 kg kidney beans from the market. Estimate

the total weight.
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Estimate the total quantity of coconut oil in both cans.

. One bottle contains 354 ml coconut oil and another bottle contains 995ml coconut oil.

-

.

~

J

. The lengths of three metros are 365 m, 205 m and 415 m respectively. Estimate the

sum of the lengths of the three metros.
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. The distance between two places A and B is 3450 km and the distance between two

places C and D is 5125 km. Estimate the difference these places.
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